PAPER Il - ARITHMETIC

1. A man spends 75% of his income, when his income is increased by 20%, he increases his
expenditure by 10%. By how much per cent are his savings increased? [4]

2. The marked price of a watch is Rs. 400. After allowing a discount of 25% on the marked price, there
was a loss of Rs. 20. Determine the loss per cent. [4]

3. The average of the squares of five consecutive positive integers is 66. Find the average of these five
integers. [4]

4. The radii of three concentric circles are in the ratio 1: 2: 3. Find the ratio of the area between the
two inner circles to that between the two outer circles. [4]

5. A dealer allows a discount of 12% on the marked price. How much per cent above the cost price,
must he mark his goods so as to make a profit of 10%7 [4]

6. From a 5 litres of 20% solution of alcohol in water, 2 litres of solution is taken out and 2 litres of
water is added to it. Find the strength of alcohol in the new solution. [6]

7. A alone can complete a piece of work of Rs. 300 in 6 days; but by engaging an assistant, the work is
completed in 4 days. Find the share to be received by the assistant. [6]

8. The marked price of a watch was Rs. 820. A man bought the same for Rs. 570.72 after getting two
successive discounts of which the first was 20%. Find the rate of second discount. [6]

9. A shopkeeper mixes two varieties of tea - one costing Rs. 75 per kg and the other costing Rs. 50 per
kg in the ratio 3: 2. If he sells the mixed variety at Rs. 62.40 per kg, find his gain or loss per cent.

10. The average of the age of a husband and wife, five years ago, was 25 years. The average of the
present age of husband, wife and a child, born during the time, is 21 years. Determine the present age

of the child. [6]

11. A train, 100 m long travelling at 60 km/hr passes another train, twice as fast as this train and
travelling in opposite direction, in 10 seconds. Find the length of the second train. [6]

12, If the difference between compound interest, compounded half-yearly, and simple interest on a
sum of money at 8% per annum for 1 year is Rs. 30, find the sum. [6]

13. If x: a = y: b = z: ¢, then show that

[(ax-by)/(a+b) (x-y)] + [(by-cz)/(b+c) (y-2)] + [(cz - ax)/(c+a) (z-x)] = 3 [6]



